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I . . Arigid bar AB is hinged at'4 4nd supported in a horizontal position.
by two-identical vertical steel wires.as shown in Fig.' Find the tensile forces

81 and S, induced in these wires by & vertical load P apoli » ‘ Y
‘ 1 2 se wires ‘y a vertical Iqad} P apphed at B as showp ( 20% )
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2. _Free-body diagravi—a’ simple’ frame with-  logd-on '’ joint.
Draw the free-body diagrams for each member of the ‘simple-frame shown'in
Fig. 2 | o | (35%,)

(3)

shown. i '{

3 . Draw the shear and bending-moment diagrams for the beam and Ioading ‘
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